The Industrial Age

Farming

e Anenclosureisa

¢ How would a farmer get the most out of his crops with limited land?

e Answer-=

. is the rotating of crops into different fields.

e Three examples of farming equipment are:
D
2)
3)

Inventions

e Asnew were starting to be created,

decided to create and produce new

e Steam Engine

e Railroad
J (Locomotive)
W Made it quicker to from place to place.
| can be in greater numbers.

e Four Benefits of the Railroad
1)
2)
3)
e American Inventions

1) - 3)
2) 4)




The Industrial Age

Economics

e Def: |

e (Capitalism
- Who controls production in money in a capitalist nation?
a) Private business '
b) Government

¢) Nobody

- Capitalist Countries
I) 3)
2) | 4)

e Socialism
- Who controls production in money in a socialist nation?
d) Private business
e) Government

) Everybody

- Socialist Countries

3) 3)
4) 4)

e (Communism
- Created by .
- The political idea that allows the government to have a complete
economy.

B Everybody as the same
W Everybody as the same
M FEverybody as the same




